

## ABSTRACT

Adi Dravidar and Tribal Welfare Department - Tribal Development - Grants-in-Aid under the Development of Particularly Vulnerable Tribal Group Scheme for the year 2021-2022 - Sanction of Rs.230.50 lakh for Creation of Capital Assets (CCA) and Rs.382.48 lakh for Grant-in-aid General (GGA) - Orders -Issued.

# ADI DRAVIDAR AND TRIBAL WELFARE [TD1(1)] DEPARTMENT

G.O.(Ms.)No.26

Dated : 31.03.2022 பிவை வருடம், பங்குனி 17 திருவள்ளுவர் ஆண்டு 2053

Read: -

- 1. Government Letter No.23105/TD1(1)/2021-1, dated 27.12.2021.
- 2. From the Under Secretary to the Government of India, Ministry of Tribal Affairs, New Delhi Letter F.No.11015/01(14)/2021-PVTG, dated 31.12.2021.
- 3. G.O.(Ms.) No.16, Adi Dravidar and Tribal Welfare [TD1(2)] Department, dated 18.03.2022.
- 4. From the Director of Tribal Welfare, Chennai-5 Letter Ref.No.TD/A1/12132/2021, dated 25.03.2022.

\*\*\*\*\*

#### ORDER:

In the letter first read above, the Government have sent the proposal to the Government of India for sanction of an amount of Rs.2689.52 lakh under the Development of Particularly Vulnerable Tribal Group Scheme for the year 2021-2022 to carry out the following activities:-

Sl. No.	District	Description	Units	Unit Cost	Amount (Rs. in lakh)	Implementing Agencies
1.	The Nilgiris. Kancheepuram and Chengalpattu	Infrastructure: Construction of houses for homeless PVTGs	387	4.90	1896.30	District Collector, concerned district
2.	Chengalpattu, Coimbatore, Dharmapuri, Erode, Kanniyakumari, Namakkal, Nilgiris, Perambalur, Salem, Tiruvannamalai, Trichy and Krishnagiri. (In PVTG Districts)	<b>Infrastructure:</b> Supply and installation of CCTV in all the Tribal hostels in the state for enhancing security of these hostels.	30	1.20	36.00	ELCOT

..2..

..2..

					02	
		Administra	ation C	ost 2 %	52.74	
				Total	2636.78	
		tourist areas				
		fun food culture to				
		Districts for bringing				Tamilnadu
J.	THE MUSICIS	Setting up of Indco Tea Vandi in 2	2	16.00	32.00	INDCOSERVE
8.	The Nilgiris	Tribal Women Groups				
		Medicinal Plants-				
		Fruit, Plants and				
		Ornamental Plants,				
		Raising of Nursery for	-	12.30	19.90	
		General:	1	19.98	19.98	
1		(Peanut, Coconut and Sesame)				Cengalpattu
		Tribal Women Groups				District Collector,
ĺ		Production Unit-				
		Cold pressed Oil				
i		General:	-	12.21	12.21	
		Tribal Women Group's				
		Sanitary Napkin Production Unit-		1	l	
		General:	1	32.25	32.25	
		Beneficiaries		L	<u> </u>	
		Unit of 50			Į	
	(Irular Tribals)	Backyard Poultry a			, 2.27	<u>{</u>
7.	Chengalpattu	General:	50		42.24	<u> </u>
		learn about nutrition.				
		opportunities for self sufficiency and to		-		
		for providing				
		schools in Tamilnadu				
		Kitchen garden tribal				
	Districts	Establishment of				concerned district
6.	Schools in PVTG	General:	108	0.1	10.80	District Collector,
		Krishnagiri		1		concerned district
0.	In Iolina Ritt	General: Ecotourism activity in	1	233.00	233.00	District Collector,
5.	Krishnagiri	hostelliers.		+	<u> </u>	
		facilities for				
		better education	ł			
		also for providing		-	}	
		in remote areas and	ĺ			
		hostel for addressing power supply concern				
		of UPS in all GTR				
	Districts	Supply & installation				concerned district
4.	Hostels In PVTG	Infrastructure:	48	1.50	72.00	District Collector,
		(Education –CCA	ļ			
		Unit Cost : 5.00 Lakh				
		High SchooLs Total Unit : 50		ļ	}	
		Primary, Middle and			i i	
		Class Room in 50 GTR				
		Maintenance Work of			-	DADTWO
	PVTG Districts	Infrastructure: Repair and	50	5.00	250.00	Project Officer/

(Twenty Six Crore Eight Nine Lakh and Fifty Two Thousand only)

2. In the letter 2<sup>nd</sup> read above, the Government of India has released an amount of Rs.1585.33 lakh for Creation of Capital Assets (CCA) and Rs.382.48 lakh for Grant-in-aid General (GGA) under the scheme of Development of Particularly Vulnerable Tribal Groups for the year 2021-2022 to carry out the following activities approved/finalized by Project Appraisal Committee (PAC) in its meeting hold 28.12.2021:-

#### Creation of Capital Assets (CCA)

S1. No.	Proposed Activity	Location/District	Fund approved for release during the Financial Year 2021-2022 (Rs. in lakh)
1.	Construction of houses for homeless PVTGs Total Units: 387 Unit Cost: 490	The Nilgiris, Kancheepuram and Chengalpattu <b>Implementing Agencies</b> District Collector, Concerned District.	1354.50 (Sanctioned at the cost of Rs.3.50 lakh per house)
2.	Repair and Maintenance Work of Class Room in 50 GTR Primary, Middle and High Schools Total Unit : 50 Unit Cost : 5.00 Lakh	GTR schools In PVTG Districts Implementing Agencies Project Officer/ DADTWO	250.00
3.	Supply & installation of UPS in all GTR hostel for addressing power supply concern in remote areas and also for providing better education facilities for hostelliers. <b>Total Units: 48</b> <b>Unit Cost: 1.50</b>	District Collector, Concerned	72.00
		Total	1676.50

#### Grant-in-aid-General (GGA)

SI. No.	Proposed Activity	Location/District	Fund approved for release during the Financial Year 2021-2022 (Rs. in lakh)
1.	Ecotourism activity in Krishnagiri Total Units: 1 Unit Cost: 233.00	Krishnagiri Implementing Agencies District Collector, Concerned District.	233.00
2.	Establishment of Kitchen garden tribal schools in Tamilnadu for providing opportunities for self sufficiency and to learn about nutrition. <b>Total Units: 108</b> <b>Unit Cost: 0.1</b>	Implementing Agencies	10.80

..4..

		nibeoblicy is raminadu	
	in 2 Districts for bringing fun food culture to tourist areas	Implementing Agencies INDCOSERVE Tamilnadu	32.00
4	Setting up of Indco Tea Vandi	The Nilgiris	
	Units: 1, Unit Cost: 19.98		
	Tribal Women Groups		
	Plants and Medicinal Plants-		
	Raising of Nursery for Ornamental Plants, Fruit,		19.98
	(Peanut, Coconut and Sesame)	4	
	Unit- Tribal Women Groups		12.21
	Cold pressed Oil Production		
	Unit Cost: 32.25		
	Units: 1	Chengalpattu.	
	Sanitary Napkin Production Unit- Tribal Women Group's	District Collector,	32.25
	Unit Cost: 42.24	Implementing Agencies	
	Units: 1	· · · · · · · · · · · · · · · · · · ·	
	50 Beneficiaries	(Irular Tribals)	42.24
3	Backyard Poultry a Unit of	Chengalpattu	

3. In the Government Order 3<sup>rd</sup> read above, orders have been issued for sanction of total amount of Rs.1937.81 lakh, utilizing the amount of Rs.1354.50 lakh released by the Government of India for Creation of Capital Assets under the scheme of Development of Particularly Vulnerable Tribal Groups for the year 2021-2022 for construction of houses to the Economically Backward Irular Tribals who are residing in Kancheepuram District.

4. In the letter 4<sup>th</sup> read above, the Director of Tribal Welfare has sent the proposal for sanction of Rs.230.50 lakh for Creation of Capital Assets (CCA) and Rs.382.48 lakh for Grant-in-aid General (GGA) to carry out the following activities under the scheme of Development of Particularly Vulnerable Tribal Groups for the year 2021-2022:-

81. <u>No.</u> 1.	Proposed Activity	Locat	ion/Distri	ct	Implementing Agencies	Amount (Rs. in lakh)
1.	Repair and Maintenance Work of Class Room in	District	No. of Schools	Amount (Rs. in lakh)	Project Officer/	220.00
	50 GTR Primary, Middle and High Schools	Namakkal	4	20.00	DADTWO	
	Total Unit : 44	Erode	4	20.00		
	Unit Cost : 5.00 Lakh	Trichy	3	15.00		
		Dharmapuri	5	25.00		
		Tiruvannamalai	5_	25.00		
		Kallakurichi	15	75.00		
		Salem	8	40.00		
2.	Supply & in tall is	Total	44	220.00		
2.	Supply & installation of UPS in all GTR hostel for addressing power supply concern in remote areas and also for providing better education facilities for hostelliers. <b>Total Units: 7</b> <b>Unit Cost: 1.50</b>	Hostels In PVTG I	Districts		Project Officer/	10.50
		District	No. of Hostels		DADTWO	
		Dharmapuri		2		
1		Kallakurichi		3		
		Tirupathur		2		
{			Total	7		
					Total	230.50

Creation of Capital Assets (CCA)

..5..

•	•	5	•	•	

# Grant-in-aid-General (GGA)

Sl. No.	Proposed Activity Location/District		rict	Implementing Agencies	Amount (Rs. in lakh)
1.	Ecotourism activity in Krishnagiri Total Units: 1 Unit Cost: 233.00	Hosur Forest Division, Krishnagiri District		District Collector, Concerned District.	233.00
2.	Establishment of	District	No. of	District	10.80
	Kitchen garden tribal	District	Schools	Collector,	10.00
	schools in Tamilnadu	Coimbatore	5	Concerned	
	for providing	Dharmapuri	13	District.	
	opportunities for self	Dindigul	1		
	sufficiency and to learn about nutrition.	Erode	14		
		Kallakurichi	20		
	Total Units: 108	Kanniyakumari	3	]	
	Unit Cost: 0.1	Namakkal	4	]	
		Perambalur	1		
		Salem	17		Į.
		The Nilgiris	15		
		Trichy	5		
		Tiruvannamalai	7	11	
		Thirupattur	1	41	
		Tirunelveli	2	4	
		Total	108		
3.	Backyard Poultry a Unit of 50 Beneficiaries Units: 1	Chengalpattu (Irular Tribals)		District Collector, Chengalpattu District	42.24
	Unit Cost: 42.24				
4.	Sanitary Napkin Production Unit- Tribal Women Group's Units: 1 Unit Cost: 32.25				32.25
5.	Cold pressed Oil	4			12.2
0.	Production Unit- Tribal Women Groups (Peanut, Cocconut and Sesame)				12.2
6.	Raising of Nursery for Ornamental Plants, Fruit, Plants and Medicinal Plants- Tribal Women Groups Units: 1 Unit Cost: 19.98				19.98
7.	Setting up of Indco Tea Vandi in 2 Districts for bringing fun food culture to tourist areas	The Nilgiris and Chennai		District Collectors, The Nilgiris and Chennai	32.0
	1 country with	-k		Total	382.4

5. The Government after careful consideration, accord sanction for an amount of Rs.230.50 lakh (Rupees Two Crore Thirty Lakh and Fifty Thousand only) for Creation of Capital Assets (CCA) and Rs.382.48 lakh (Rupees Three Crore Eighty Two Lakh and Forty Eight Thousand only) for Grant-in-aid General (GGA) under the Development of Particularly Vulnerable Tribal Group Scheme for the year 2021-2022 to carry out the activities mentioned in para 4 above.

..6..

6. The expenditure sanctioned in para 5 above shall be debited to the following head of account:-

"2225 - Welfare of Scheduled Castes, Scheduled Tribes, other Backward Classes and Minorities 02 - Welfare of Scheduled Tribes -277 - Education - Central Sector Schemes - SD - Development of Particularly Vulnerable Tribal Groups - 309 - Grants-in-Aid - 03 Grants for specific schemes (Old DPC 2225 02 277 SD 0933) (IFHRMS DPC 2225 02 277 SD 30903)".

7. The Director of Tribal Welfare is authorized to draw and disburse the amount sanctioned in para 4 above to the District Collectors / Implementing Agencies concerned for the implementation of the schemes.

8. The District Collectors / Implementing Agencies are requested to send the progress report for every quarter with physical and financial progress in the prescribed format to Government in Adi Dravidar and Tribal Welfare (MEC) Department. The Utilization Certificates shall be furnished within 12 months from the date of release of the amount to Government in Adi Dravidar and Tribal Welfare (MEC) Department through the Director of Tribal Welfare who shall be the overall monitoring authority for the scheme.

9. This order is issued with the concurrence of Finance Department vide its U.O.No.16491/AD&TW/2020, dated 31.03.2022.

//BY ORDER OF THE GOVERNOR//

## K. MANIVASAN PRINCIPAL SECRETARY TO GOVERNMENT

То

The Director of Tribal Welfare, Chennai-5.

The District Collector, Chennai, Coimbatore, Dharmapuri,

Dindigul, Erode, Chengalpattu, Kanniyakumari, Krishnagiri,

Namakkal, Perambalur, Salem, The Nilgiris, Tiruvannamalai,

Tiruvallur, Trichy, Tirunelveli, Tiruppathur, Vellore, Kallakurichi

The District Adi Dravidar and Tribal Welfare Officer/Project Officer,

Chennai, Coimbatore, Dharmapuri, Dindigul, Erode, Chengalpattu,

Kanniyakumari, Krishnagiri, Namakkal, Perambalur, Salem,

The Nilgiris, Tiruvannamalai, Tiruvallur, Trichy, Tirunelveli,

Tiruppathur, Vellore, Kallakurichi

The Accountant General, Chennai-18/35/6.

The Pay and Accounts Officer, Chennai-8,

The Secretary to the Government of India,

Ministry of Tribal Affairs, New Delhi-110001.

The Finance (AD&TW) Department, Chennai-9.

The Adi Dravidar and Tribal Welfare [OP.I/MEC/ ADW.2/ADW.4/ADW5] Department, Chennai-9.

The Special Personal Assistant to the Hon'ble Minister (ADW), Chennai-9.

The Private Secretary to Principal Secretary to Government, Adi Dravidar and Tribal Welfare Department, Chennai-9

Stock File / Spare Copies.

//FORWARDED BY ORDER//

31.3.2022 SECTION OFFICER